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Fhily 3% eHEEAN 01 01 7.2% | (REAK)
FhivLyd 3% 2MEzAR 01 02 1| 6.0%

FhivLy 4% 2MEFzAR 01 01 1| 66% | (HEFEAK)
FhivLy 4% 2MEFzAR 01 02 3| 6.2%

FhivLy 4% 2MEFzEAR 01 03 1| 5.9%

FhivLy 4% 2MEFZAR 01 04 1|  5.5%

X = 148 FHEFEAR 01 01 2.2%

X = 158 FHEFEAR 01 02 2.0%

X = 158 FHEZEAR 01 03 1.9%

X = 158 FHEZEAR 01 04 1.8%

X = 158 2MEFzAR 01 01 20| 28% | (EEAR)
X = 158 2MEzAR 01 02 26| 2.5%

X = 158 2HEFzAR 01 03 71| 2.4%

X = 158 2MEFzAR 01 04 27| 2.3%

X = 158 —E£AK 01 01 2.0%

X = 148 —EH/K 01 02 1.8%

X = 148 —EH/K 01 03 1.7%

X = 148 —Z£5/K 01 04 1.6%

X = 3%F FHEFZAR 01 01 2.5%

X = 3% FHEZEAR 01 02 1.8%

X = 3% FHEZEAR 01 03 1.6%

X = 3% FHEZEAR 01 04 1.9%

X = 3% 2MEFzAR 01 01 1 31% | (BRFEAK)
X = 3%F 2MEZAR 01 02 4] 2.3%

X = 3% 2MEFzAR 01 03 2| 2.0%

X = 3% 2MEFzAR 01 04 2.4%

X = 3%F —SAK 01 01 2.2%

X = 3%8 —EH/K 01 02 1.6%

X = 3%8 —ZEH/K 01 03 1.4%

X = 3% —£AR 01 04 1.7%

X = 158 FHEZEAR 02 01 1.5%

X = 158 FHEZAR 02 02 1.4%

X = 158 FHEZAR 02 03 1.3%

X = 158 2MEFzAR 02 01 1.8%

X = 158 2MEFzAR 02 02 1.7%

X = 148 2MEFzAR 02 03 1.6%

X = 148 —£AR 02 01 4 13% | (HEARK)
X = 148 —E5/K 02 02 30[ 1.2%

X = 158 —£ARK 02 03 3 1.1%

X = 3% FHEZEAR 02 01 1.7%
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X = 3% FHEZAR 02 02 1.4%

X = 3%F 2MEFzAR 02 01 2.0%

X = 3% 2MEFzAR 02 02 1.7%

X = 3% —£AR 02 01 14% | (HZEAK)

X = 3%8 —E5/K 02 02 1 1.2%

X = 158 FHEZEAR 03 01 1.4%

X = 158 FHEZAR 03 02 1.2%

X = 158 FHEZEAR 03 03 1.1%

X = 148 2MEFzAR 03 01 1.9%

X = 158 2MEFzAR 03 02 1.6%

X = 158 2MEFzAR 03 03 1.5%

X = 158 —£AR 03 01 16| 1.3% | (B#EARK)

X = 158 —£AR 03 02 53]  1.1%

X = 148 —E5/K 03 03 20(  1.0%

X = 3% FHEZEAR 03 01 1.2%

X = 3% FHEZEAR 03 02 1.0%

X = 3%F 2MEFzAR 03 01 1.6%

X = 3%F 2MEFzAR 03 02 1.3%

X = 3%F —£ARK 03 01 2| 1.1% | (HEARK)

X = 3%8 —Z£H/K 03 02 1 0.9%

z £ 2% eHEzEAR 01 01 6| 88% | (H#EAK)

z & 2% 2MEFzAR 01 02 14  8.0%

z & 2% 2MEzAR 01 03 18] 7.7%

z & 24 2MEFzAR 01 04 16  7.5%

z & 2% 2MEFzAR 01 05 124  7.3%

z & 2% 2MEzAR 01 06 7.4%

= m 158 2MEzAR 01 01 1.5% | (H#EAH)
(FZEARD | £HEEBEAR 01 02 1.2%

= m 158 2MEFzAR 01 01 36% | (BRFEARK)
(%ZFE0) | £HEEAR 01 02 1| 3.0%

E W 2% 2MEFzAR 01 01 100 09% | (E#FEAK)

E W 2% 2MEFzAR 01 02 0.6%

E W 3% 2MEFzAR 01 01 1.0% | (H#EAK)

E W 3% 2MEFzEAR 01 02 10|  0.9%




